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Find the relevant questions that

are necessary t0O measure
Formal Sector
Households

Informal Sector

Answers

Formal Sector : Institutional Sector (D13=1,2,5);

Incorporated company (D14=1); Registration
(D15=1) or Bookkeeping (D16=1)

Households : Domestic worker in private household

(D11a=2). It can be based as well on ISIC=97

(Activities of households as employers of domestic
personnel) or ISCO=63 (Subsistence farmers, fishers,

hunters and gatherers)

Informal Sector : everyone in employment not
classified in formal sector or household.




Find the relevant questions that

are

necessary to measure

Formal Employment

Informal Employment

Prre

Answers

Status in Employment (D03) is the key variable as a basis

Formal Employment

If D03=3,4 (Employers + Own-account workers) -> Formal
Employment = Formal Sector.

If D03=1,2 (Employees) and D0O8=1 (employer contributions). For
those who don’t know in D08, questions D09=1 (paid annual leave)
and D10=1 (paid sick leave).

Informal Employment

If DO3=5 (Contributing family workers) — Informal Employment directly
If D03=3,4 (Employers + Own-account workers) -> Informal
Employment = Informal Sector.

If D03=1,2 (Employees) and D08=2 (no contribution to pension). For
those who don’t know in D08, no positive answers to both D09 and




